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Note : Attempt any five questions. Each question 

carries 20 marks. 

1. (a) What are the qualitative characteristics of 
accounting information ? Briefly explain. 6 

(b) What do you mean by the Principle of 

Double Entry ? Give the rules of Debit and 
Credit with suitable examples. Also 
explain the accounting equation with 
examples. 7, 7 

2. There was a difference of ` 430 in a Trial 
Balance. It was placed in the Debit side of 

Suspense Account. Later on the following errors 
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were discovered. Pass the rectifying entries and 
prepare the Suspense Account : 15, 5 

(i) Purchase Book was overcast by ` 100. 

(ii) Sales Book was overcast by ` 1,000. 

(iii) Goods for ` 800 purchased from Umakant, 

though entered in the Purchase Book has 
not been posted to his account. 

(iv) An amount of ` 500 has been posted to the 
credit of Commission account instead of  
` 570. 

(v) Goods sold to Bharati for ` 4,400 has been 
posted to her account as ` 4,000. 

(vi) Goods sold to ‘X’ for ` 750 were recorded in 
the Purchases Book. 

3. Define Depreciation. What factors should be 

considered for determining the amount of 
depreciation ? Explain the merits and demerits 
of written down value method. 3, 5, 12 

4. What are the characteristics of Hire Purchase 
Agreement ? Discuss the rights of a Hirer under 

Hire Purchase Agreement. Describe the 
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difference between the accounting treatment 
under the ‘Hire Purchase System’ and the 
‘Instalment Payment System’. 5, 7, 8 

5. “Joint Venture is a temporary partnership.” 

Comment and explain, how does it differ from 
the ‘Partnership’ and ‘Consignment’. 6, 7, 7 

6. How are branch balances incorporated in Head 

Office books at the end of the accounting year 
and how do you deal with purchase and 

depreciation of branch fixed assets whose 
accounts are maintained at the Head Office 
level ?   6, 14  

7. Define Computerized Accounting System. 

Distinguish between manual and computerized 
accounting system. Explain the considerations 
which are required to be kept in mind while 
choosing Accounting Software. 3, 7, 10 

8. ‘A’ of Sonipat consigned 500 bicycles to ‘B’ of 

Chennai to be sold on his account and at his 
risk. The cost of one bicycle was ` 200. ‘A’ paid  

` 5,500 as freight and insurance and received  
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` 40,000 as advance from ‘B’. B paid ` 1,000 as 
Octroi and Cartage, ` 1,500 as Rent, and  

` 1,200 as Insurance. 410 bicycles were sold by 
‘B’ for ` 1,10,000. B was entitled to a 
Commission of 5% on sale @ ` 250 per bicycles 
and 25% of any surplus price realized. 

Give journal entries in the books of ‘A’ and 
prepare Consignment Account. 14, 6 

9. Briefly explain the following concepts : 4×5=20 

(a) Conservatism concept 

(b) Consistency concept 

(c) Full disclosure concept 

(d) Materiality concept 

 

 

 

 

 

 

  



 [ 5 ] BCOC-131 

  P. T. O. 

      BCOC-131 

dk;ZØe % ch- dkWe- (lh- ch- lh- ,l-) 

l=kkar ijh{kk 

fnlEcj] 2020 

ch-lh-vks-lh--131 % foÙkh; ys[kkdj.k 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % fdUgha ik ¡p iz'uksa ds mÙkj nhft,A izR;sd iz'u ds 

20 vad gSaA 

1- (a) ys[kkdj.k dh xq.kkRed fo'ks"krk,¡ D;k gSa \ 

laf{kIr esa foospuk dhft,A 6 

(b) nksgjh izfof"V ds fl¼kUr ls vki D;k le>rs 

gSa \ MsfcV vkSj ØsfMV ds fu;e mfpr mnkgj.kksa 

ds lkFk fyf[k, vkSj ys[kkadu lehdj.k dh 

mnkgj.kksa lfgr O;k[;k dhft,A 7]7 

2- ,d ryiV esa ` 430 dk vUrj ik;k x;k ftls 

mpUrh [kkrs ds MsfcV i{k esa fy[k fn;k x;kA ckn esa 
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fuEufyf[kr =kqfV;k¡ Kkr gqb±A bUgas 'kq¼ djus dh 

izfof"V;k¡ dhft, rFkk mpUrh [kkrk cukb, % 15] 5 

(i) Ø; cgh dk tksM+ ` 100 vf/d yx x;kA 

(ii) foØ; cgh dk tksM+ ` 1]000 vf/d yx x;kA 

(iii) mekdkUr ls ` 800 eky Ø; fd;k ftls Ø; 

cgh esa rks fy[k fn;k x;k ijUrq mlds [kkrs esa 

[krkSuh djuk Hkwy x,A 

(iv) deh'ku [kkrs ds ØsfMV i{k esa ` 570 ds LFkku 

ij ` 500 fy[k fn, x,A 

(v) Hkkjrh dks ` 4]400 dk eky foØ; fd;k ijUrq 

mlds [kkrs esa ` 4]000 fy[ks x,A 

(vi) ,Dl dks ` 750 dk eky cspk ijUrq bls Ø; 

iqLrd esa fy[kk x;kA 

3- ewY;ßkl dks ifjHkkf"kr dhft,A ewY;ßkl dh jkf'k ds 

fu/kZj.k esa dkSu&dkSuls rRo è;ku esa j[kus pkfg,\ 

ßkflr 'ks"k fof/ ds xq.k ,oa nks"kksa dk mYys[k 

dhft,A   3] 5] 12 
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4- voØ; djkj dh D;k fo'ks"krk,¡ gSa \ voØ; djkj 

ds vUrxZr voØsrk ds vf/dkjksa dk o.kZu dhft,A 

voØ; iz.kkyh rFkk fd'rksa esa Hkqxrku iz.kkyh ds 

vUrxZr ys[kk fof/ ds chp ds vUrj dk mYys[k 

dhft,A   5] 7] 8 

5- ¶la;qDr m|e ,d vLFkk;h lk>snkjh gSA¸ fVIi.kh 

dhft, vkSj crkb, fd ;g lk>snkjh vkSj izs"k.k ls 

dSls fHkUu gSa \ 6] 7] 7 

6- ys[kk o"kZ ds vUr esa czkap 'ks"kksa dk eq[; dk;kZy; dh 

iqLrdksa esa fdl izdkj lekos'ku fd;k tkrk gS vkSj 

czkap dh LFkk;h ifjlEifÙk;ksa ds Ø; vkSj ewY;ßkl dk 

ys[kkdj.k vki fdl izdkj djrs gSa ftuds ifjlEifÙk 

[kkrs eq[; dk;kZy; ds Lrj ij j[ks tkrs gSa \ 6] 14 

7- dEI;wVjhd`r ys[kkadu iz.kkyh dks ifjHkkf"kr dhft,A 

eSU;wvy vkSj dEI;wVjhd`r ys[kkadu iz.kkyh esa vUrj 

dh foospuk dhft,A ,d ys[kkadu lkWÝVos;j dk 

p;u djrs le; fdu ?kVdksa dks è;ku eas j[kuk 

pkfg, \   3] 7] 10 
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8- lksuhir ds A us viuh tksf[ke ij cspus ds fy, 

500 lkbfdysa psUubZ ds B dks izs"k.k ij HksthaA ,d 

lkbfdy dh ykxr ` 200 FkhA A us ` 5]500 HkkM+s 

,oa ches ds fn;s rFkk B ls vfxze jkf'k ds ` 40]000 

izkIr fd;sA B us ` 1]000 pqaxh ,oa xkM+h HkkM+k]  

` 1]500 fdjk;k rFkk ` 1]200 ches ds Hkqxrku fd;sA 

B us 410 lkbfdysa ` 1]10]000 esa csp nhaA B ` 250 

izfr lkbfdy ds foØ; ewY; ij 5% vkSj blls 

vf/d ewY; ij 25% deh'ku ikus dk vf/dkjh gSA 

A dh iqLrdksa esa jkstukepk izfof"V;k¡ dhft, rFkk 

izs"k.k [kkrk rS;kj dhft,A 14] 6 

9- fuEufyf[kr ladYiukvksa dh la{ksi eas O;k[;k 

dhft, %   4×5=20 

(d)  vuqnkjokfnrk 

([k)  ,d:irk 

(x)  iw.kZ izdVhdj.k 

(?k)  egRo dh ladYiuk 
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